) €M)

ooa

Ratio

[
<
N

a(d o) (rad)

10:3H

Ratio

1.1

1
4,1++ +'+'

1.2

-3 -2 —1 0 1 2 3

a0 d ) (cm)

=

H T
ﬁ%r ____________ iy +++++++

gﬂﬁiﬁiﬁ-ﬁﬁgﬁiﬁw---+++¢*4'¢

e —

DQM_original_step?2_ttbar-phasel-newgeom
DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
DQM_pixelCPETemplateCutChiSquarel5_step2_ttbar-phasel-newgeom
DQM_pixel CPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom_test

mllne)

: i : :
Lieeeeenne +++++ ...... P e .
-i-:=+++ Y + e -+ +

: + oo O o g & *:_-0--0- .;.:E :
E e ;‘_-f-l- D eg® - = * %ol

-Q-'.T-I-_._-O- g : 1 'l-_'_-.-. E 3 _._-C- ;"': *1 4
_¥1:"' """"" R t L AR "SR E . <

+ . e i
T'.'+:0.—?|.'....+?‘.'.+...-l—.:...._f_._;_...-'.‘;..ﬂ'.-;—....."“.:.
. UL+

++ ++--;;;“-*-

—1 O 1 2 3
TP ® (PCA to beamline)

Ratio

o(o pT/p )

10L%
1.2

LI ;ﬂ"f

. 107t

. +F . :

. o -+ ++ -

-+ 1o .- + o0 Toer%y [

Jpip SRR SRD © e S O Y gk T o
[o e o _._tf.. s o tady TEE, SO e
A oy - - . =

AP e B :.: ﬁ; Rt ™t

—'1 o1 é 3
TP ® (PCA to beamline)




	Contents
	Page 1


